
Why update norms? 

 
 
Norms are only as good as the data they are based on so they are only as good as the context and context 
matters - we want peers compared to more current peers. 
 

 
 
RIT has not changed the reference group has.  



 
Last norm update was 2020. Since then there has also been a change in the test.  
 

 
 
EISA = Enhanced Item Selection Algorithm 
 
Change = Blueprint reflects state standards and grade levels with more representation from those standards 
and grade level items.  
 
 



 
 
 
Before EISA - random pull from bag - after EISA - they pull from grade level content first UNTIL they are 
exhausted.  
 

 
 
X axis is RIT score 



 
The test is still adaptive - if that difficulty level is exhausted from the students current grade level, it still will shift 
up or down as appropriate.  
 
 
 

 
 
specific while reading tends to use similar skills in more complex ways across grades. 
 
2025 Norms were built using the EISA model. 
 



 
 
Norms are named for the year they are published, not the years in which the data are collected.  
 
COVID has resulted in lower achievement and growth.  

 
 
 



 
 
 
 
 
 
 

 



 
 
Changes are larger at the lower end of the distribution.  
 

 
 
 
 



 
 
 

 
 



 

 
 
Across all grades, growth is lower across grades under new norms. 
 
In contrast, opposite pattern in math.  
 
 
 



 

 
 
Same percentile maps to a new RIT score under new norms. Why did this same RIT score for X grade last 
year have a different percentile rank? How to read the above table Ex: A student who had a RIT score that fell 
at the 30th percentile in 3rd grade with 2020 norms, would now place at the 39th percentile. Percentile ranks 
are higher now at the lower and middle parts of the distribution but stable at the upper end. The student HAS 
NOT changed, the REFERENCE GROUP HAS. 



 
What are the implications? These will impact real decisions as many schools use percentiles for placement 
and intervention decisions. 

 
 

 
 



Result: more may be flagged for gifted and fewer for intervention. 
 

 
 
 
 
Do not compare over time with different norm groups. Longitudinal comparisons should be done with a single 
norm set. However, this is also complicated by the new EISA format. This version of the test is indeed different 
in how it selects items.  
 
Key: The reference group achievement has shifted!! 
 
 


